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Sociology
Paper III

HHATSTIMTSE
P9ateRT 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions, each
carrying Two (2) marks. Attempt All questions.

GOl : A YA THY Ueew (75) Igaar YA fol oTRd. Uoieh TR | (2)
O SRA. W YA Higel.

1. The concept of ‘Indexicality’ is | 1. ‘TR TIeT®ar’ € Weeudr SITeh

associated with : Hafed e ?

(A) Phenomenology (A) TEARTE

(B) Ethnomethodology (B) RIS
(C) Psychoanalysis (C) AH-fagerom
(D) Neo-functionalism (D) TE-YhTEaR

2. The term ‘Cynical performance’ is | 2. ‘tlT‘TBTﬂT‘Tﬁ FHl' & G RIOT FTAAT

used by : Y ?

(A) Foucault (A) eI
(B) Derrida (B) =fter
(C) Goffman (C) TweA
(D) Garfinkel (D) TRfthehet

3 [P.T.O.



‘Social reality consists of objective,

socially created interpretations and

patterns of interpretations.” Who

formulated this view ?

(A) Gramsci

(B) Tonnis

(C) Berger and Luckmann

(D) Lash and Urry

Who is associated with the book

‘Reading Capital’ ?

(A) Jeffery Alexander

(B) Habermass

(C) Althusser

(D) Foucault
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¢

3feee wmTfSreRgsea fafda stemned smfin

ST i AT TSI e
ainenfid rwd.’ 7 gfeewta wivf
Hreat ?

(A) it

(B) 2+

(C) FSiT T Fehed

(D) <9 oqfor &

‘T wfyea’ § gk SRl Fefud

A ?

(A) ST STA=ITST

(B) ToRA™

(C) STeYsT

(D) Th!




Who wrote the following

‘Theoretical Logic in Sociology’ ?

(A) J. Alexander

(B) T. Parsons

(C) M. Weber

(D) J. Derrida

Which of the following sets of
concepts is used by Anthony

Giddens ? (Choose the correct one)

(A) Structure system and looking

glass self

(B) Risk society and ecological

communication

(C) Life world and stock knowledge

(D) Structuration and self as a

reflexive project

MAY - 14316/II1—A
feifeena |ffSeh 391 QifvTetiarst’ ard
WEH SO S e ?

(A) S. IR
(B) 3. U=
(C) TH. IR

(D) . SRe

EATeTdeh! ShIvd] Hehoden & STert

Aleq AM aen e 7 (379
IREED)

(A) TTEAT el A0 Eyfafesicees

o

(B) S\ gHTS 3o gffEerdiemesen
YT
(C) ShaAfaya amfor JE 9WeR

(D) TTEATCHSRdT 3T T —Ueh Ffafars

EEJS

[P.T.O.



Phenomenological sociologists have

a great concern for :

(A) Empiricism

(B) Positivism

(C) Consciousness

(D) Behaviourism

Who has recognized ‘Agency’ as a
principal constituent of human
existence and rejects the kinds of
body obsession and body fetishism
characteristic of contemporary

life ?

(A) Anthony Giddens

(B) Foucault

(C) Derrida

(D) Ulrich Beck
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TSRS THISTIRSRTT h9T T

fu Fhadhes MR ?
(A) STIHETTEAAETS
(B) SR

(C) STuftarcHehd

(D) S

Al ST Teh J&d weeh ‘Heed’

3o FHeTE et af¥mesl A

At StaHTe SIom=ar g« S

UG IJAT HIOT A=A feoi ?

(A) 3Ty fire

(B) H!

(C) Sfte

(D) 3aR= &h




10.

11.

Who argued that human subject is
constituted through power and

knowledge ?
(A) Giddens
(B) Derrida
(C) Foucault
(D) J. Alexender

Who has indicated diversities of
Indian Culture and contributed a

book on “Diversities” ?
(A) R.K. Mukherjee
(B) D.P. Mukherjee
(C) G.S. Ghurye

(D) S.C. Dube

Who has written the book ‘Tribal
Heritage of India’ (1977) ?

(A) S.C. Dube
(B) B.R. Ambedkar
(C) Surajit Sinha

(D) N.K. Bose

10.

11.
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AHerHeEr favg g wmed enfn 9=
ATHR TAR ATl 38 TH hIvfl Fiadred
%ol AR ?

A) fiew

(B) =fer

(C) HHI

(D) . IFRIE

TR Teeher= fafaear son fHeeiqm
ST AT ST STFegitaers’ =
R AR et e ?

(A) 3MMFH ISt

(B) ELdt. gt

(C) Stua. ¥d

(D) THEH. ga

‘TEEd RES eitw e’ (1977) ®
q&ish vl fafeed ?

(A) TEHL g

(B) &1.3TR. 3TEet

(C) Ffem

(D) T 99

[P.T.O.



12.

13.

Caste and gender are :

(A) Interlocking hierarchies

(B) Separate concepts with no

relation to each other

(®))

Caste is more opressive system

than gender inequality

(D) Caste is socially and

traditionally  constructed

inequality while gender is socio-

cultural creation

The author of ‘Social Background of

Indian Nationalism’ is :

(A) N.K. Bose

(B) S.C. Dube

(C) A.R. Desai

(D) David Hardiman

12.

13.
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Sa et o s wus ?

(A) TEIE T[aere! S

(B) wTEUElt IEEl WEE qEATAl
Hehea Tl

(C) fermwme srAMauen S & s

JeTHT e A

(D) A B WHTrSehg e ST TOTd

Taior Shetelt STHHEMGT 3T o) famyme

B ATHISToh - Wik faehgsean  fHa

HehoUdl 3T

‘O dRUTHeS ATH sfed TyHfas™’

I YK TEH HIU R 2
(A) T, 99
(B) ww.H. T
(C) TR <9E

(D) fwe T




14.

15.

16.

Privatization of education in India
is a consequence of which one of the

following ?

(A) Urbanization

(B) Globalization

(C) Capitalism

(D) Science and Technology

Which of the following institution is
working for correction of the juvenile

delinquents in India ?
(A) Shelter Homes
(B) Ashram Schools
(C) Remand Homes
(D) Open Prison

The condition of being estranged or
dissociated from the surrounding

society is known as :
(A) Alienation

(B) Anomie

(C) Division of labour

(D) Rationality

14.

15.

16.
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IIIArdia fereroms IS §

Bl TeTdesh! 1T SRt afeoms

;e ?

(A) AR

(B) SIATfehiehol

(C) wieawER

(D) fomm snfor o=

TVITATATRT  HITTAT FEAT AT

FIER = GERON ITAST T
e ?

(A) HI&re

(B) 3HIMMRA

(C) e 3m
(D) Fer &

N

ST AT =41 FHSTARA oTed BI0] 32l
SrEEAcHe qifeerdt € s Jem
Mes@ed! S ?

(A) ST

(B) JHTITRIAT
(C) gHfaYsH

(D) FfgfTeaa

[P.T.O.



17.

18.

19.

Who  opined that formal

organization is a system of

consciously co-ordinated activities of

two or more persons ?
(A) Delbert C. Miller
(B) William H. Form
(C) Chester I. Barnard
(D) Kenneth Boulding

Who has propounded the concept of

Bureaucracy ?

(A) Henri F. Fayol
(B) F.W. Taylor

(C) Max Weber

(D) Emile Durkheim

Which one is not an important

characteristic of an organization ?
(A) Common goal

(B) Division of labour

(C) Integration

(D) Information

17.

18.

19.
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‘S foren sifuer aferi=an SoteTcRe
L TS| 3=
T 8. 3™ FIUt WA oy ?

I

SO ndld]

(A) e &t fHer
(B) foezm wa. o
(C) T M. sl
(D) A9 SifeeT

o o

Aladliqd

~ A J NN
AlenRllel™l Aeneddl enlYll

Hell R ?

(A) &1 Th. ®ATA

(B) TH. T, W

(C) HeRH o

(D) UHA gTEEH

e HIVA Hewequ afdred g
2

(A) HHfgh 3fE
(B) gmfaYsH

(C) TehTcHdT

(D) wfed

10



20. Which article says that ‘The State

shall make provision for securing

just and humane conditions of work

and for maternity relief ?

(A) Article 43

(B) Article 41

(C) Article 45

(D) Article 42

MAY - 14316/II1—A

20. HTHMET HESIEL S0 YET Heerd

TS T ST SURISHT Shid =

IV heTHId ool shaiall A8 7

(A) °hetH 43

(B) sctH 41

(C) <hetH 45

(D) <petH 42

21. The Indian Pilot’s Guild is an | 21. ‘T sfedd deed fice’ § M (0
example of : 3me ?
(A) Industrial Unions (A) 3Eifier Hee
(B) General Unions (B) W'ﬁﬁlﬂ‘[ﬁ
(C) Craft Unions ©) TR SoT
(D) Workers Federations .
(D) ™R 99
11 [P.T.O.



22.

23.

‘The Human Relations of an

Industrial Civilization’ is written

by :

(A) F.W. Taylor

(B) Robert Owen

(C) Henry Fayol

(D) Elton Mayo

Ralf Dahrendorf’s notion of conflict

in case of ‘Class and Class Conflict

in Industrial Society’ is based on :

(A) Power

(B) Status

(C) Authority

(D) Honour

22.

23.
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‘T T fowmw ofw o Sefaa

Tafgamegem’ §© Twe S fafea
e ?

(A) ThITY. R

(B) U 3o

(C) & wardA

(D) Teed #Al

AENfirer TSI ot efor e

IfaoRi=t Ueh Soelhdl TN

GhoUTl HIeR TeRa e ?

(A) &<

(B) =i

(C) &R

(D) |HHE

12



24.

Hawthorne studies were carried out

in :

(A) Western Electric Company in

USA

(B) Marion Virginia Plant in USA

(C) Tavistock Institute in London

(D) Michigan Survey Research

Centre in New Jersey

24.
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UMY I HS HOIM ST ?

(A) I=A oS RO 39 STARE

(B) Afma =S wie 37 mftem

(C) Jfewis se=ge 1 e

(D) faferma wsg frgd 92 =9

= St

25. In India, the Royal Commission on | 25. Hdd RESEINE IR RS IR IRE]
Labour took place in : SRl gl ?
(A) 1931 (A) 1931
(B) 1930 (B) 1930
(C) 1932 (C) 1932
(D) 1935 (D) 1935
13 [P.T.O.



26. Human Development is defined by

27.

the UNDP as :
(A) increasing mobility
(B) decreasing mortality
(C) increasing consumerism
D)

enlarging people’s life choices

Low growth of population is an

indicator of :

(A) Economic growth

(B) Economic depression

(C) Economic underdevelopment

(D) Marginalisation

MAY - 14316/II1—A

26. JTA.SLUL F HE! foehrar=i e Hei

27.

Hell R ?

(A) dredt Tfasiieral

(B) wedi A

(C) dedl Urgehdig

(a) [ (a)

(D) <= S e fomarismo

HLO

AREEdEl B HH 9@ ® I

freeies R ?

(A) 3Tféien foerma

(B) =fefer e

(C) smf¥ier 3fershr

(D) SR

14
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28. How Samir Amin explains the P - -
v ' o eEPE 28. 3rH{fad famre TiRio I+ 3THH
uneven development ?
I B Dol I ?
(A) through the export of capital in
the periphery with the (A) 3Te9-3cq— frAd=an wHER
advantage of low wage-cost .
senid sieaerd! afterda fafd
(B) through the import of
. (B) ¥¥ed TEEEMNET I shiol
sustainable resources
(C) through intensification of agro- (C) Fei-sreferaedy faamien
economy
(D) SIS YF=IT TEHRTATAR
(D) through collaborating with
feudal power ST
29. The Gandhian Sarvodaya | 29. TR Haicd faaRERUT HIMER Tl
framework focuses upon : Tehd ?
(A) Economic affluence (A) ol Sowi
(B) Prosperity of all (B) Hatdl SRE
(C) Utilitarianism (C) UK
(D) Pluralism (D) 3AhAmETg
15 [P.T.O.



30. The most feminists agree that the

31.

issue of violence against women is

related to :

(A) Exploitation

(B) Alcoholism and drugs

(C) Power and control

(D) Poverty and male dominance

The book ‘Maidens, Meal and Money’
which talks about politics of
production and reproduction is

authored by :

(A) Claude Meillassoux

(B) Simone de Beauvoir

(C) Sandra Harding

(D) Levi Strauss

MAY - 14316/II1—A

30. IEAN AR AR Teaa Ted i,

31.

fomfatdt fTamm=t ygt & géa

Tetell Fafd smg e

(A) SUH

(B) #enefiar sufor Age g Ged
(C) wmed s frer

(D) Tfga enfor qesl o=

IeqreA AT qATCYIEATS USRI
i feay, Hia i w’ € Tk
shroit fetfeet R 2

(A) FAfe HicHir

(B) fomfq & el

(C) F=gr =

(D) o= W™

16
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32. Matriarchy as a system is : 32. WHIJHTh SHeEl g oW
(A) Similar to matriliny (A) q@?ﬁ-ﬂ-q el grREl e
(B) Different from matriliny B) ; o 5 i e
(C) is based on matrifocal

(C) WA TEHaedel S 38
household
(D) fugeiven wee TR
(D) Stronger than patriarchy
33. Toaren fawmren gftesmAEr e
33. Women in Development Approach %
(WID) was criticised because : Rl Sl eIt
(A) It emphasized that women’s (A) mE Seeh USRI Ferrn
status will improve through TS I HAOIAER R S0ATd ATl
‘productive employment’ which aifor Fesraren =R S geeeHTdie
downplayed women’s role in ‘lﬂ\l—lom om i aeh’
household and reproduction
(B) Hew o 9rea= ariH sieed
B) It gave a universal .
ST 2790 Teh WTeif>eh THS e
understanding that all women
are oppressed in similar ways
(C) It failed to appreciate diversity (©) =i ferfeerer g
of women’s life RICI
(D) It did not consider men’s (D) qEwi™ REEA IRE aHe
contributions to household IEEEUIGIRC LRI SRS
17 [P.T.O.



34.

35.

36.

National Commission for women
is :

(A) an NGO

(B) Customary body

(C) A Statutory body

(D) Parliamentary body

Who has introduced the concept of

anomie in Sociology ?
(A) Robert Merton
(B) Kai Erikson

(C) Emile Durkheim

(D) Max Weber

Who has argued that deviance is
necessary for society as it fulfils two

major functions of society ?
(A) Pareto
(B) Weber
(C) Giddens

(D) Durkheim

35.

36.

MAY - 14316/II1—A
(A) T TAST.AL

(B) UYINTd HeeA

(C) TATHS: HeeA

(D) HHEHE gued

HHTSTITEATT JHTUTh YA HehedHT hIuit
HrEar ?

(A) U 7

(B) FE THHA

(C) |feer gremEH

(D) Heg oo

foge © 9HNIG STEvash 37 R

A=A T Y@ HwEt § gaar o,

3 yfqare HIvit el A ?
(A) TE

(B) @R

(C) fre=a

(D) SIEEHA

18



37.

38.

Name the writers of the book : “The
New Criminology for a Social Theory

of Deviance”.

(A) Makino, Tsuboi and

Dennerstein
(B) Vold, Bernard and Snipes

(C) Macrae, Maguive and

Milbourne

(D) Taylor, Walton and Young

Which of the following factors was
not a basis and part of Louis
Dumont’s book on “Homo
Hierarchicus : The Caste System

and its Implications” ?
(A) Classical texts

(B) Indology

(C) Structuralist approach

(D) Homogeneity

MAY - 14316/II1—A

37. ‘7T = fwfmtarsi wi € dee faew

3 Sfegaa’ o1 Tk TEeh™ A6
qmm

(A) Hfrl, gag Mo ST

(B) =iee, sHig s for

(C) ¥eh, Hiiteg efur foersi

(D) IR, dfeed mfor =

38. WICICIIR! IV B BT s SYAIC AT

‘Bl TR ; € %R faem sfe

S TS AT TR SR ST

R B AR ?
(A) TSI T

(B) gr=afgen

(C) TEATHS Gleah

(D) TehTcHdT

19

[P.T.O.



39. Match the following questions with
the sociologists and select the
correct answer from the codes given

below :
List I
(Questions)
(a) Who was particularly interested

)

(c)

d)

(1)
(2)
3)
4)

in typifications to understand
phenomenology ?

Who calls an instance of focused
interaction an encounter ?

Who has coined the term
‘Ethnomethodology’ ?

Who presumes the duality of
structure in theory of
structuration ?
List II
(Sociologists)
A. Giddens
H. Garfinkel
I. Goffman

A. Schutz

Codes :

A (2
(B) (4)
© @
D) @

(@)
(4)
2)
3)
(1)

(d)
(1)
(1)
4)
3)

(@ (®)
3)
3)
2)

2)
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39. Wil Y= FHSTYMSIYN S
Jezal MU Wl Fehdiehlqd Ad T4
Heer

(@)

)

(c)

d)

(1)
(2)
3)
4)

RICU |
(T97)

EECRINIE=ERNEE Y I AT

T HoATT fasIoeh®s ShIome
T Bl ?

SHETYA T H AT TS Teh TR
ATl AT AR 3™ HIvT T
AR ?

‘T UgdeTe B Hehoul

I Sl ?

=T STl g S
SETCASAl HIv gmIfaq @l
AR ?

ICi i |
(FHTSTITE)
T. frew
Td. TR
M. TMHHA
RO

-
-
-

A) (2
(B) 4)
© @D
D) @)

(@) ()
3)
3)
(2)

(2)

()
(4)
2)
3)
(1)

()
(1)
(1)
4)
3)

20



40.

41.

‘The rural social reality becomes
very clear by the adoption of
methodological particularism and
not only depending on western
approaches and methodology.” Who

has made this statement ?
(A) AK. Saran

(B) Louis Dumont and David

Pockock
(C) S.C. Dube
(D) G.S. Ghurye

Who implements the National Rural

Employment Programme ?

(A) District Rural Development

Agencies
(B) Block Development Officer
(C) Ministry of Rural Development

(D) Chief Executive Officer

40.

41.

MAY - 14316/II1—A

HfgfeTse TgAINTSTET STadd shod

UTHIT THISIE] gl 311 T B,

heled YT GWIehlA STV TG eETer

e g O T &I Aad @l

38 faum wIoh & oR ?
(A) TH. T

(B) @ =l enfor 3fes e
(C) TH.H. go

(D) stuw. =

T ATHOT AR HIAHHATET 20—

IS hIoT I 2

(A) TSoer um faerm gee
(B) e fawm™ sifuery
(C) 7™ fa™g =PI

(D) & FE&R Al

21

[P.T.O.



42.

43.

44.

When was the Bonded Labour
(Abolition) Act passed in India ?

(A) 1948
(B) 1976
(C) 1970
(D) 1952

Who led the ‘Bharatiya Kisan Union’
to launch the peasant struggle in

India ?

(A) Narayan Swami Naidu
(B) Mahendra Singh Tikkait
(C) Sharad Joshi

(D) M.D. Nanjuda Swamy

Who is the author of the book
A

entitled ‘Deviant Behaviour :

Social Learning Approach’ ?
(A) Ahuja Ram

(B) Carey James

(C) Merton Robert

(D) Akers Ronald

42.

43.

44.
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SeforR FHeH e 9RAd shegl §Hd
e ?

(A) 1948

(B) 1976

(C) 1970

(D) 1952

IRATT Vel T F& hvad R
fore I’ = A w0l ol ?

(A) TREUEETH g,
(B) me=sfam fegeha
(C) IR =M

(D) TH.EY. TSrarH

o hd (el a

Sfeue fagfeeer : ¢ wwr @i ot

¢

I YIRS TEh hI0 ?
(A) STgsT IH
(B) & S
(C) 7 e

(D) 3frd TS

22



45.

Who of the following has given the

psychological, physiological, social

and miscellaneous causes of drug

45.

MAY - 14316/II1—A

WTATAURT HIVI HEh ToF QAT

AT, RS, |1 Ao

TR et SR fool emRa ?
addiction ?
(A) TH 3gs
(A) Ram Ahuja
(B) @t wHifE
(B) C.B. Mamoria
(C) SH.3IR. #eq
(C) G.R. Madan
(D) S.N. Agarwal (D) T E
46. Which disease is the most frequent 46. ST 30T TE TR LT AW I
killer of both men and women ? IO ?
(A) Cancer (A) & (F& WT)
(B) Diabetes (B) SMEefcH (WYHE)
(C) AIDS (C) T&H
(D) Heartfail (D) &I I
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47.

48.

Which is known as ‘Umbrella

Programme’ in promoting National

Health ?

(A) National Urban Health Mission

(B) National Rural Health Mission

(C) Family Welfare

(D) Janani Suraksha Yojana

Who has investigated how people

cope with disease and chronic illness

in their daily lives ?

(A) Labelling ideologists

(B) Conflict thinkers

(C) Functionalist

(D) Symbolic interactionist

47.

48.

MAY - 14316/II1—A

L AR SIS * Soetl wrdsd’

U IV wE%HA aRfad TR ?

(A) TEE A g AfEm

(B) U U0 T A

(C) 2 Hed

(D) ST GIE A

s e eAfed SifeTd =T STy

':L{Q:IQ"’*H g{QIqu‘ql AHAL Al ohRdld

Ao FeNeA o el 3 2

(A) et foemes

N o h

(B) TR faemre

(O EREIN]

(D) Hishfaer STaifshrarare]
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49.

Who was of the opinion that an

excessive number of people
would give rise to poverty and
other social ills, since it was not
possible to increase land and

property as rapidly as the size of the

population ?
(A) Aristotle
(B) Plato

(C) Malthus

(D) Kautilya

49.

MAY - 14316/II1—A

‘ srfaftea clenge & <1y 3T 3R

qrATfSTeh foremaes et o i hro

TARGEI] T aTed SITo=ar TR -
= THONG STt mfor Sowit=an

TR oG Sh0l IR 9 378 HaueyH

HOT hA AR ?
(A) sREled
(B) @@

(C) wee™

(D) whifecH

50. Which committee was appointed for 50. 1993 WIEl ULTA elwEEA T
proposing a National Population Ao SHUATIST IOTT Wl T
Policy in 1993 ? et et ?

(A) Swaminathan Committee (A) e |t
(B) National Planning Committee (B) TS A Gt
(C) Santhanam Committee (C) TI=H |t
(D) Mudaliar Committee (D) eferar affdt
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51. The average number of persons

52.

living per square kilometer is known

AS i .

(A) Migratory population

(B) Density of population

(C) Dependency of population

(D) Declining population

Which of the following factors is
related to the size of the population
and the utilization of the countries

resources ?

(A) Younger Population

(B) Overpopulation

(C) Increasing Population

(D) Stagnant Population

MAY - 14316/II1—A

51. < IRY fohaiHiex |AT Sireh=A1 TRroam=it

52.

U §&AT R0 AN @]

S ?

(A) LA AhEE

(B) Wng&a=l Sl

(C) ArhEEdT 3Tadfed

(D) AREEAdA T

a N = ~ LEEEN
L[[ATCTYhT h[0IdT ©deh Bl <AlhHE&IH]

SRR o1 <M= TRl YA

JreaTeht Tefed e ?

(A) TEUMET ATREEA

(el

(B) 3Arqrad

AR I

(C) Tl ATREEA

(D) TeerR wrendien
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53. Given below are two statements, one

is labelled as Assertion (A) and other

is as Reason (R) :

Assertion (A) : Every inmate of a
prison has to
carry on tightly
scheduled
activities in the
company of

strangers.

Reason (R) : A prison is a

unisex world
where every
inmate s
stigmatized.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the

explanation of (A)

not correct

(B) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

MAY - 14316/II1—A

53. Tl <19 fauam feolt med, T

fagm (A) snfor =A™ RO (R) 19
TEge A

faam (A) : A ToE Fear
erilell STleswEl Sl

ggargrd 3Tt e fed

e A foerell M
TR Y6l AT,

T T 3 Whfa fava
e &1 98 g@s

%ruT (R)

ggfaarEl 81 oA fohd

.
wrell faiean Hehdish A 3Tgeh St
IREEINE
i

(A) (A) F (R) Sr&l SRIeR 3Ted 1
(R) T (A) T T TILIHI TRl

~

(B) (A) @ (R) Tl R 7ed W (R)
T (A) T TIH TR IR

(C) (A) T g% 3%, W (R) § SN
3y

(D) (A) T IR AR, WG (R) T IH
Y
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54. The main focus of introducing the

55.

population education is on ......... .

(A) Women

(B) Younger generation

(C) Working population

(D) Population of 60+

‘What a brave boy you are’ and ‘Boys

do not play with dolls.” These

examples are related with which

kind of gender studies ?

(A) Gender sensitization

(B) Gender socialization

(C) Gender equality

(D) Gender relations

MAY - 14316/II1—A

T

54. TehaEd TRI&0 IEAa™ SiveR hisd

55.

HLOI A ?

(A) &=

(B) dwu et

(C) Twamia ceraeE

(D) 60 TG TThHEEAT

‘q fRdt IR gam emew’ smf ‘HA

TG Tezd 1T, & Sareol fermema

AITATT HYMIN Faiferd e 2

(A) Tememe HaeTsiierdn

(B) Tomvma garsiertor

(C) famyme |9

(D) famyme Fey
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56. Which of the following is not a cause

57.

of rural poverty in India ?

(A) Low percentage of population
engaged in non-agricultural

pursuits

(B) Absence of dynamic community

leadership
(C) Urge for education
and

(D) Intercaste conflicts

rivalries

The Indian civilization encouraged
which of the following factors
comparing to the civilization in

Europe ?

(A) Spirit of Nationalism
(B) Spirit of Capitalism

(C) Diversity of Culture

(D) Spirit of Parochialism

MAY - 14316/II1—A

56. WeIcTdeh! IV WRATIE UM Sig=T

57.

SO %% Yehd ATl ?

(A) T vidt sgaEEE A edl

AR EEId HH GH

(B) Tfeiiel wETfes Aqwemet 3ufid

(C) TIeomEES=l oTd

(D) SRS Fors S e

YA FId=a1 dod  qRATdid

G EITATeTdeh! ShIUTcaT SEhTall SIS

feat 2

(A) TaRN™ =a

(B) WieaaeRer <

(C) T&harEn fafaerm

(D) YRR <d
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58.

59.

The Greeks were concerned about
the size of the population more from
the points of view of defence, security

and government than from that

of :

(A) Social resources

(B) Natural resources

(C) Political resources

(D) Economic resources

It must be pointed out that the
doctrine of Confucius on marriage,
family and procreation were

generally :

(A) in favour of population increase

(B) in favour of population control

(C)

not in favour of population

control

(D)

in favour of small family

58.

59.

MAY - 14316/II1—A

TR, A S wEASEw A

R IATGT Uieh © ThEEI=A ShN=

ITedd Wl ShIoeal Tsergel At

TS B ?
(A) TIfSer gt

(B) gfifer wrewo=t

(C) TSR FIE=Eg

(D) eTfefer TmemEa

foamg, wea i gSiicare" a1 Helei=i

[N

FRIEEY O IR B § T

Y0 hT AETIR ] ?

(A) TTREEAT dTerea quee

(B) arerEEA fAasome wwelied

(C) arrEE e fadiem

(D) &M e qHefATd
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60.

61.

‘In the thousand slums of India’s
industrial centres manhood is
unquestionably brutalized, women
dishonoured and childhood is
poisoned at its very source.” Who

made this statement ?

(A) A.R. Desai

(B) Radhkamal Mukher;ji

(C) Pandit Nehru

(D) N.R. Seth

When was the ‘Medical Termination
of Pregnancy Act’ passed in

India ?

(A) Year 1976
(B) Year 1971
(C) Year 1972

(D) Year 1975

60.

61.

MAY - 14316/II1—A

‘T SftEnfire Sgrdd B9

SIS qeeId AT 1 JRIe e
o 371R, @M oo % Sa ST
M0 STeATeed & M adae o
el S AR, € faum Hiof @
e ?

(A) TSR 6%
(B) U¥HAA HEIS(
(C) dfed Te®

(D) TA.3TR. 93

WRATd * Sereh g T ad e’ shegl S

HIOA ATAT 7

(A) T 1976

(B) @ 1971

(C) a8 1972

(D) = 1975
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62. Given below are two statements, one

is labelled Assertion (A) and other

is Reason (R) :

Assertion (A) : The classification
of agrarian
classes are not
randomly given
into number of

social categories.

Reason (R) : The classification
of agrarian
classes into their
social categories
are determined
by specific
theoretical

assumption.

Select the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is the
explanation of (A)

not correct

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

MAY - 14316/II1—A

62. @t o faum oot o1, T faam

(A) 3T TEI™ RO (R) 3™ Helged
e :

faam (A) : Fu& TW TR 7

AEATHE®  FIATTS®
Fuiard=ar AR fees
e ferd @,
Fh T A AHTH
FAATNTER AFAA
aiffereor ¥ fafime srem
dgifas JEARTER
Fuifd g ed.

T (R) :

o

foieal FehdlehMYA 3Teeh St

PO
(A) (A) 9 (R) <=l a&X 31ed 3o
(R) T (A) 3 T TRH TR

(aV
eIl

~

(B) (A) @ (R) ! SR 2Ted W (R)

T (A) T TH TISHRIU AR

(C) (A) § WX IR g (R) & 9%
3y

D) (A) T I 3R Wg (R) T SR
3T
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63.

64.

Since when the population of India

has become ‘Explosive’ ?
(A) Since 1941
(B) Since 1931
(C) Since 1951
(D) Since 1921

‘The right of women to decide freely
and responsibly on the number and
spacing of their children and to have
access to the information and means
to enable them to exercise that

right.” Who declared this ?
(A) The Government of India
(B) The National Population Policy

(C) The World Conference of the

Women’s Year 1975

(D) The World Population

Conference at Bukharest

63.

64.

MAY - 14316/II1—A

IATE] AhHEA HhegMygd  Thich'

A ?

(A) 1941 T
(B) 1931 URHA
(C) 1951 URH

(D) 1921 UHA

" ST WA foRdt ol STl ST

e e fodt oTax ot anforst
SeTeRRYul ST gaqaur o SorE
oo sk o, 799 @ b A

sirorvgrETSEt  wifgdt @ @rer’
e & AR oTe. ' o/ ol
SER el ?

(A) HRd "R

(B) TS dARaEA 9R0l

(C) 1975 = SMIfdes HAfgem 9REg

(D) FEREH SATdh dlhae qReg
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65.

66.

If the population decreased, Plato’s

remedy was :

(A) Migration

(B) Emmigration

(C) Immigration

(D) Procreation

Who is the author of a book entitled

‘People, Health and Diseases : The

Indian Scenario’ ?

(A) Veena Bhasin

(B) Ashish Bose

(C) Venkatratnam

(D) Giri Raj Gupta

65.

66.
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SR AREEAT HH el T R =il

AN HIUET YA a2

(A) TIAR

(B) ST

(C) SAEIATH

(D) 34

‘fiua, deu ofe fedlw @ & sfeem

faafet’ a1 qEawRt=a dwEw R0

ed ?

(A) <o &=

(B) oTifymeT &g

(C) TheTeTq

(D) fRRS T
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67. Which committee recommended | g7, s fam A= fosr THST=T 3R
the extension of the Health fqUTTISE AT ST TR e
Insurance Scheme to other sections

gidy sell ?
of society ?

(A) wHarfaT afady
(A) Kartar Singh Committee

(B) ¥R wfet
(B) Bhore Committee

C) shtara afbd
(C) Shrivastava Committee ©
(D) Mudaliar Committee (D) E{ii LSRR

68. Who have edited the book on | g8 ‘w&is g7 ¥ SEHHR AF e
‘Studies in Social Dynamics of . .

%' T qIh &IV FUfd ol ?
Health Care’ ?

A) STfYeT g emfur W <9
(A) Ashish Bose and P.B. Desai (&)
(B) Giri Raj Gupta (B) ARSI
(C) S.C. Basu

(C) TH.H. &g
(D) Lal Shivshankar and Chandani

(D) o Tyt enfor = ron sifden

Ambika
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69.

70.

In which city the ‘Slums’ are known

as ‘Bastis’ ?

(A) Chennai

(B) Mumbai

(C) Kanpur

(D) Delhi

Every year on June 26, ever since

1991 has been in observance to mark

thedayof .....cceeeeeeeiiinnn. .

(A) International Population Day

(B) International Day Against

Drug Abuse and Illicit

Trafficking

(C) International Women’s Day

(D) World Health Day

MAY - 14316/II1—A

69. THIVA B ‘ Sasa&dian’ ‘s&dt’ =

70.

e el S ?
(A) =T

(B) e

(C) HAR

(D) oot

1991 IR el 26 A & fead o

SIS Gl shell Sl 2

(A) SInTfaer i foq

(B) wieehusre geuEn offur etfafte

R wfqay STawrse foow

(C) STaursdy Hfeen fgag

(D) STfaes 3R feq
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71. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
b)
(c)
d)

(1)
2)
3)
(4)
)

List I
(Books)
India’s Villages
Indian Village
Indian Villages in Transition
Caste and Class in India
List II
(Authors)
S.C. Dube
G.S. Ghurye
M.N. Srinivas
AR. Desai

Andre Beteille

Codes :

A) 1)
(B) (4)
©) 2
(D) 3)

(@ (b)
6))
3)
3)

(1)

(c)
3)
)
4)
4)

(d)
(4)
2)
(1)
2)

MAY - 14316/II1—A

71. el 9t 19 9t 11 9t g

Sirean e S feeiedn Hehdishgd
I feren

(a)
(b)
(c)
(d)

(1)
(2)
3)
(4)
)

EICU |

(qteh)
sfear foasrg
HERERESSE]

fa fa

sfegq fogoog 39 oI

HE 3T FAE 39 sfedm
Tt 11
(TEF)

THH. g

M. shifrerg

T.3R. TEE

s o

K3 K3
-
.

A 1)
B) @)
©) @)
D) 3)

®)
5)
3)
3)
o))

(c)
3)
5)
(4)
(4)

(a) d)
4)
2)
1)

)
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72.

73.

Which of the following is not a part

of peasant struggle classified by

Kathleen Gough ?

(A) Liberal Reformist Movement

(B) Restorative Rebellions

(C) Mass insurrections

(D) Social Manditory

How many villages are situated

in India according to the 2011

census ?

(A) 6,20,880

(B) 6,40,887

(C) 5,76,000

(D) 5,71,000

72.

73.

MAY - 14316/II1—A

WATAUh] HIVMT Tk & hIel= T

N o

[deh il

AT fRLOT Theredl BEEIE
TR BA AR ?

(A) CRAGAR] GURUcHE T3l
(B) ¥oied SItEe

(C) ©iieh Sar

(D) FHIS, g

N0

sl

2011 AT SIFUATHR HRard Tt

ed ?

(A) 6,20,880

(B) 6,40,887

(C) 5,76,000

(D) 5,71,000
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74. By which name the bonded

75.

labourers are known as 1in

Hyderabad ?

(A) Jeethams

(B) Halis

(C) Adiyas

(D) Bhagela

Who wrote the article on ‘G.S.

Ghurye on Culture and Nation

Building’ in Sociological Bulletin

in 1993 ?

(A) A.R. Momin

(B) C.N. Venugopal

(C) Y.B. Damte

(D) A.R. Desai

MAY - 14316/II1—A

74. ISR B EIECHED HIOAT M

75.

MBEA S ?

(A) Stremy

(B) wreiist

(C) emfgarst

(D) YFren

1993 H&l WfFIsitaitsrenet geiferqed ‘.

. g4 #F FeR e wE e’

o1 fawEt=n o@ o ferfear ?

(A) W3R HHH

(B) ®I.UA. JUFTUIes

(C) I THd

(D) T.3R. e
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